1- Complete the text with the words.

How- magic- cabaret — music — new - meals — place - holes —
volunteer — box — name — stage — open

New Club in Town!

The Blue cvcereien i viicinse Club i @ cvvpeseeercssensinesenns nigheclub in Cannes.

It opens this week. Iis ..ccoooneeeovrennnrenes every evening from 7 1o 12 o'clock.
You can have good ........ccccceecnnee.. and drink there in a big, beauriful
A AN AV R, DL EICDBE 5 on Ak b every evening and you can dance.

There i$ 8 vooveecesiversrenensess €vETy evening too. This week it is a famous Man
OF . ion i vimiins i HIS S i sssinabssins 38 Micoling. Hle s very clever. He

akes @ aeiiiies P ﬁ'um the pcopic in the club and purs him into a big
e onthe ....................... . Then he pushes five long swords
FELMD: 5o i ey in the box. Then the person comes out again. It is all

very clever. .......c..vovaenn.. does he do it? Go 1o the club and watch him.

2. Write the correct words in the sentences below:

Box - end - hole - push — stage - sword - volunteer

(a) There is a in my coat. I can’t wear it.

(b) I , and the door opens.

(¢) Your hand is at the of your arm.

(d) Merlin has five s, and one on the

(e) Merlin needs a . He asks Chantal




3. What happens first? Number the sentences
1-6.

a. James walks into the big box.

b. Merlin invites James onto the stage.

¢. Merlin pushes four swords into the box.

d. Merlin takes the five swords from the box.
e. Merlin wants a volunteer.

f. Two men take a big box onto the stage.

4 Match the questions and the answers.

1. Why is James unhappy? ......

2. Why does James go into the box? ......

3. Why does Chantal want James to volunteer? ......
4. Why are the people at the club quiet? ......

a. Because Merlin is pushing swords into the box and James is
in it.

b. Because it is only magic.

c. Because the Man of Magic wants Chantal to go into the big
box.

d. Because people are looking at him and waiting.

5 Are these right or wrong ? Worite right or wrong
a James and Chantal live in Cannes.

b They can dance at the Blue Cat Club.

¢ The Blue Cat Club is in Cannes.

d Chantal likes magic.

e They drink tomato juice.

f Merlin is a Man of Magic.

g Pe()plc like the show.

h James is very happy with Merlin.



6 Circle the right words.

a James and Chantal /| Two men take a box onto the
stage.

b Merlin / James asks for a volunteer.

¢ Chantal / James doesn’t want to be a volunteer.

d There are five holes / no holes in the box.

e Merlin / James pushes four swords into the holes.

7 Who says this? James, Chantal or Merlin?
a ‘What' s Wrotig?" «.osvsmsisnns

b T 80TEY, sesvesvmrvnnmnss

¢*You aremay Mr Magie" svuivivvinvin

d ‘Aaaaaaagh!’ ...........ccne0s

¢ ‘Ti’s tomate jnive.” s



